
3−10 2−10 1−10 1

R∆TP min 

0.95

1

1.05

1.1

R
at

io 0

0.002

0.004

0.006

0.008

0.01

0.012

0.014

0.016

0.018

0.02R∆
ef

fic
ie

nc
y 

vs
 

Efficiency vs dr

3−10 2−10 1−10

R(TP, jet)∆

0.95

1

1.05

R
at

io 0

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

0.01

R
(T

P
, j

et
∆

ef
fic

ie
nc

y 
vs

 

Efficiency vs dr (track,jet)

150 160 170 180 190 200 210 220 230 240 250

Pileup

0.9

0.95

1

1.05

1.1

R
at

io 0

0.005

0.01

0.015

0.02

0.025

0.03

0.035

0.04

0.045

0.05

ef
fic

ie
nc

y 
vs

 P
U

Efficiency vs puEfficiency vs pu

tracking_Iters01LST_DNN_1000events

tracking_Iters01LST_preDNN_1000events


	Contents
	Page 1


